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A 2500-1b automobile 1s moving at a speed of 60 mi/h when the brakes
are fully applied, causing all four wheels to skid. Determine the time
required to stop the automobile (a) on dry pavement (u;, = 0.75),

(b) on an 1cy road (u; = 0.10).
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A sailboat weighing 980 Ib with its occupants 1s running downwind
at 8 mi/h when its spinnaker 1s raised to increase its speed. Determine
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the net force provided by the spinnaker over the 10-s interval that it
takes for the boat to reach a speed of 12 mi/h. a0 Ib -
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